Geometry Chapter 8, 10 Cumulative Review

1. Find the sum of the interior angles of a
convex decagon.— 10 sides

(10-2)180°= (8 180° =(T450™

2. Find the sum of the exterior angles of a
convex pentagon.

Name KQY

3. Find the measure of each interior angle of
aregular 16-gon.

s (19)1g0° 2520°
o), (D160, 2530°75759

[o 1o

4. Find the measure of each exterior angle of
aregular nonagon.—> q s;des

5. Find the slope of each line. Classify each pair of lines as either parallel, perpendicular, or neither

parallel nor perpendicular.
eLine 1: (-3,-1) and (3, 3)
®Line 2: (-2, 2) and (0, -1)
© Line 3: (0,4) and (2, 1)

®Line 4: (-3,-4) and (1, -1)
Slope of lime 2= 371 _ i:é
33 0

N olfl'.nl’-‘ii_@
ope h

slope of fine 3= 1-Y |
ot fnes= 2

0

Slope oflimny= —ll;;:@

e A and i are perpendicalar [\ive d and lin 3 are parallel
\ine 4 awd line3 are perpendicalar

ling L ond line U are neithar [ Vi 3and line Y areneitor

6. Solve for x in the diagram.
(5x + 10)°

(6x — 14)°

Sy-11= ‘1y+°l &, opp Sides Zin a Pdﬂ"eloarah)

Gy =20  (ConSecutive /'S Supply—>5x -7+ Uxtlb =1 g0
! Ax+9 =180
qx = ’7,

RN T T

line 2 and line Yave nerkher o

Shm of interior angles ina Pen+a3m'.
(5160’ (e S0°

X+7+5x4% +Yx-17+45x+10 4+ bx-14 = 5Y0°

I x-lb =540
2\ x =54k

Yx- =ty «— '.gwls bisect ina Parallel ogram

5y=\/+\|(, z—altint LS &



8.

. ‘ot parallel
trapezad (on psir \;;m‘;

d.

Determine the most specific classification that can be used for the given quadrilateral based only

upon the markings.
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(o plir ot parallel sides, legs awe w\«smeﬁh
Solve for the variables in the diagrams.

9.
a.

>

(6y)°

\ (4X+2)o':\{; .

rec*ahqle,So diogonds bisect and are congruent |

42°

Ll
)

L[x+)=‘-!2*—(isogce!es friangle makes base Ls2)

g of Yhe vight awj\c
bevﬁa?m purdtel Tives M«
dawyes are v ht Zs

valleloy rar
opp amjlts are

C.

v
v

ot
r‘mmbus (0 Sides H makes i+ a
P(E'a“dﬂ vqm AW Hu
erPﬂ\budar dudjOMl!
WW ika rhombus)

Sq,um ( Perpehlucuhr
¢iagp nalS make i+ o yhombus
and whgmm} d.a?onal:

W\ake it a reclangle,
Sotisa St;uare)

e20i0 190 Lonsecukive angles betwen
e a3 Yha pavalld l.us are Suppl-

Y

/‘W’" ’ Yy + gy =1€0
Uy =9k
1d poimT, 29 Ipownt
il pi wid Segment i poin
Bx+1 Tx+d.=_ X2
Wil Seqment= by o = ‘540] 2
Yx4 (g = Ix-2
Ax+ 9= dx-3 + Sex s
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Graph the four points, then determine the most specific classification for the quadrilateral.

Yy =Uo
X =10
10.
Explain your reasoning.
a. A(41’B(13)C(33)D(05)
Slope AB=
Q 4.
13°®
3N P
'\: o / \ quQ CD— -1: 2
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2 lope AD= b
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Since SlopeS are opposite reciprouls —
Hha ang Ie‘S'P'ﬂ"@rjhf angler so itisa long #h (b= \13.

‘rec-\-mg\c S

Vit Sam leng

nte the s.bs ave ot all
4 ks not a rhombus nor

a sUAre Thus itis a

|ength AD =3 {13
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b E=(2,3) F=(-5-3) G=(1, -2), H=(4 )
‘-I-‘o : H' S‘OPC EH-
43
R A S tG= - - \
/ 1 / .......... ﬂo?ﬁ F__ )
16 / . slope FE = __(;;z 2
5 / 3 2 1 . o,- 1 2 3 4 ‘ehg‘“‘ F\T "+(9.‘: c"
= | 436
=—"TTFi 3=
F -6
Since Opp Sides h4|/¢ Hhe same sl —
> PPdlel making i+ a ope Th‘ F(’ V37

‘?;'ZIH °3":: No Slopes are opp- rcc.pmuk\ oh ‘)% FE=3(T
So Yhare are novight angler and i+is nog rectale or squre.

sinte Wotall the Sider ane The same length itisnot @ rhombus.

Thus itisa



11. Determine if CD is tangent to @A. Explain your reasoning.

D ® ¢ G [ 1060’
LY smOwee

yes Cb is tangesr 30 OA because ZDis a right anyle

12.  Determine the radius of ®B if SL is tangent.

P NP (r+8)z=r’+ q?

B.r ) s L (@) =+ 8l
9

2 =24 8l
r+3r48relY =r t
’ tlor (Y =re 81

3 loy =17
lor +64 =8I
" j r == Lobas
"‘r =17

13.  Determine the following measures of OC:

. ) °_ 63 0= -17‘
a mRQ = 27 I%O !
2
(-] Q a._
¢.  mRMQ=_2%3 (g0 — 47 =333
14. In G)A,and CD = 6x — 4. Use this information to find the
following values:

d. sz(

b ar= B
goo AQ

15.  Write an equation and solve for x. Explain your reasoning in setting up the equation.

L) ~ ° —_—-—
722 F - = . -
fo+|=4,7 4—‘5264'*3 mCRB=m ED=T We know CB=ED
c 750 Yx =37
[x=0.93 ]
E \ G
72°
D
16.  Determine the following measures in ®A: mBD = |5ﬂ° mCD = 93°
134° 3¢°  360°
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For questions 17-20 find the measure of each angle or arc.

° °‘:'D~:27° °
17.  a meECB =29 58 18. a  mu«CFD=_5%
° °. 4 =35° o °-65°=25°
b.  mzCED =_3° 70+ b.  mcEFC=_135 Ih"-55° = [ac
¢ mep=_70 _ 35"A%I0 re +arc
= ahj‘@z 2
c E o T¥+3°
740 36 x = T
5 ° «_ |l
X =
X°:55°
o« (3% (7"
19. a  meceEp=_\lT [§0= 63 20. mBF =_50 oig _ Skal
) 9 - |5b° ‘G' a_ﬁ/
b. mEB = 156 7827 and |
o ° -X
1089 A9 - -‘OK/:/
B
D\/XF S gy =R
o=
x* =50
21.  Solve for x. . Solve fory. )
3x= o le)= ov*'s.l?(wl"l'
TN D o»+;;gw:;'>- o
Y b (30)
X =lo \b+ 1Y
\/ lo +4y = [20
L{y = lo‘f
23. Solve for x.

she(wlle 0“*'5'“("/["') = b
m O“Jr(o‘(((a +l g - a () :

s\ 3uvlr T2

(x=45



Warmf
Solve $or all yariables

insife _ arc+arc gutside b — Shut|
G“J{?- - 2, ahy{l_ = —T_
o _ [29°+(3F o_ x°-232°
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x =(80-(3( 13" =x _3"),
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